White  Year 3 - Spring - Block 2

Rose
Money




Rosie has 5 silver coins in her purse.
She can make 40 p with three coins.
She can also make 75 p with three coins.

How much money does Rosie have in her purse!?
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Amir has 5 different coins in his wallet.

What is the greatest amount of money he could have
in his wallet?

What is the least amount of money?
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Dexter has 202 pence.
He has one pound coin.

Show five possible combinations of other coins he
may have.
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Whitney thinks that she has £10 and 3 p.
Is she correct?
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Explain your answer.
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Dora thinks there is more than £5 but less than £6
Is Dora correct?

Convince me.
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